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QUESTION NO: 1
An empty trash container weighs 32 pounds. If this container is filled with a load of trash
that weighs 122 pounds, what is the total weight of the container and its contents?

A. 3.81 pounds
B. 90 pounds
C. 144 pounds
D. 154 pounds
E. 3904 pounds

Answer: D

QUESTION NO: 2
Janette walked 6 miles in a local walkathon. How many feet did she walk?

A. 18 feet

B. 1200 feet
C. 5280 feet
D. 10,560 feet
E. 31,680 feet

Answer: E

QUESTION NO: 3
Stereos normally priced at $239 are now on sale for 40% off. What is the sale price?

A. $40.00
B. $95.60
C. $143.40
D. $239.40
E. $334.60

Answer: C

QUESTION NO: 4
An auto technician uses a micrometer to make two measurements. The first measurement
is 2.374 units and the second measurement is 3.005 units. What is the total of the two?

A. 0.626
B. 0.631
C.4.374



D. 5.165
E. 5.379

Answer: E

QUESTION NO: 5
A pre-school teacher has a total of 18 % quarts of orange juice to use for a snack. How
many children can she serve if each child receives 1 cup of juice?

A. 296
B. 144
C.74
D. 37
E. 18.5

Answer: C

QUESTION NO: 6
There are 4200 poinsettias that need to be foil wrapped. The wrap is packaged 60 per box.
How many boxes of wrap are needed to wrap all of the poinsettias?

A. 7 boxes

B. 70 boxes
C. 700 boxes
D. 2400 boxes
E. 2520 boxes

Answer: B

QUESTION NO: 7
Dana is going to plant 6 new rosebushes in her yard. Each rosebush costs $12.95. How
much will Dana pay for all 6 plants?

A. $2.16
B. $41.70
C. $52.95
D. $77.70
E. $103.60

Answer: D



QUESTION NO: 8

The owner of Lighting Emporium decided to install new carpet in the showroom. The room
measures 60 feet by 60 feet. How many square yards of carpet will be needed to provide
wall-towall carpet in the room?

A. 36 square yards
B. 100 square yards
C. 400 square yards
D. 1200 square yards
E. 3600 square yards

Answer: C

QUESTION NO: 9
A recipe calls for all the liquid ingredients to be mixed together: 2-1/4 cups of water, 4-5/8
cups of chicken stock, and 1/2 cup soy sauce. How many cups of liquid are in the recipe?

A. 6 cups

B. 6-7/8 cups
C. 7-1/4 cups
D. 7-3/8 cups
E. 7-3/4 cups

Answer: D

QUESTION NO: 10

A state law requires that there be one certified teacher for every 15 preschool students
enrolled in a state-certified school. How many certified teachers are needed at a center
with 150 preschool children?

A. 5 teachers

B. 10 teachers
C. 15 teachers
D. 20 teachers
E. 25 teachers

Answer: B



